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space curvature and accderaton (2)
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space_cunvature and aceleraton (3)

'bU\S\CO\ Cu‘OlC. eYGMP\e (rescaled fo make perfeck square &)
P= 24t 433y Fri= Jarae s =[(kut= 2
Ti= 42,26t T g {2,240,
A [f-" | ¥ie2
r\\ = K 0{2.)1‘%7: 2(0)')&7
2B = g <22, B> <Oy =2 | 2 WA= a {21 0- &, 2707
i o V| o 5 ce?it,2Y
Bt = 3 taragid = 2(thW2) s before)
K= \oixe™ AR - 2= "+z>
Ik )d ()2 o p=t
Be TiXeY | R<UD L
lrlxrn\ 2 G}n) ___l_——-———"“tz‘-a,
Y-SRI o) srar>
= YLk | = = {-e3-4% 444 2t3rat
&‘L‘rz) @uL \ 3 2\ )\/\/‘/) e
| D |2 2+ &5 —a() (29 2k(tt)
- -k, 2
-1k kY WO or  T= <u D 1
tiv2 T
Ti= cunxo,z\uv AR
~0: Ctz)
‘fr" ‘ = WM>
r(o\= 00,077 . &}-\rz) 2
o= <'z,o,07- L 0,07 = © L-4b, 4-U2 40 o 2 L-TE W
R (k24P o
Noi= <ay® = <oy =] R Tle S
A T
6(0)- Qo\og.)._ 00, D=k < A-ApR M
\"E'L‘r L:.'t-z
K= %}, Lo (0= S 0 ' )
' \a{.‘ acce\emhon C\ecunposrﬁon‘.
y osculanng crde M yy plane = fli= <0,k
Cﬂﬂkf (o\L,0) F‘ G *7
radius 2

Q4= T. qc 2 2,25 <Ot D
2

%.(_,_.Zt"‘ £3)_ 2c(tMe
r2) Lg‘-n.)) =at
q“ Nc Q= 2<."Zt 2-T5 240 . <042
" ng ‘
e 2(2-tHUD_ g elg
1]

-—}_ .‘A A
a=asTYy Qanc 2T+ ?_N

= 2



